asym_atll

asym_atrl

asym_atl2

asym_atr2

run6368 000 r

esres

diff_ bpm1X

20000 | M — 10
0
15000 |
N —80
10000 u
[ -
5000
[ |
or "
[ =
5000 W
10000 |
[ " - (|
15000 _||||||||||||||||||||||||||||||||||||||||||||||||| 0

=50 =40 =30 =20 =10 0 10 20 30 40 50
diff_bpmXum

dift_

- - —a0
15000 en
10000 —70

- N
5000

- =

o
-5000
10000 |
15000 |

- 10

E g 1 mE
E_DDDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D

50 -40 -30 -20 -10 O 10 20 30 40 50
difi _bpm1Xum

20000 -
N —101
15000 |
- —80
10000 |-
5000 |-
: m
o m
-5000 |-
- W
10000 [
[ - -
15000 111 | 1 1 11 | 1 1 1 1 | 1 1 1 1 | 1L 1 1 1 | 1 1 1 1 ﬂ
=20 -10 0 10 20 a0
difi_bpmdaYium
-
- —80
15000 — f u
- —80
10000 |
B —70
5000 |
o -
-5000 |-
10000 .
15000
N e 10
E'DDDD _I 1 1 | 11 11 | 11 1 1 | 11 11 | L1 1 1 | L1 1 1 ﬂ
20 1D 0 10 20 0

diff_bpmda/um

30000 | 30000
- 60 N —60
20000 20000
- P - —P0
10000 10000 [~
B B 40
O O
- - 30
10000 - 10000 |-
- . 20
20000 | 20000
30000 - 10 30000 10
n " E =
G b bvrvrbveee v b v bevnn bvvea e Covv v vv v T v bv v by b
00030 a0 20 10 © 10 20 30 40 50 U 40000 20 10 0 10 20 an O
diff_bpm1Xum diff_bpmdaYium
! . [bf -
- _B{} -
- N —70
30000 | —70 30000
; . N
20000 | —&0 20000
N " n "
10000 | 10000
- - " "
o o
10000 10000 [~ >
20000 20000
30000 30000 EE
mnnn- II|I | IIII|II |IIII|IIII|IIII|IIII|IIII WDDU_III|IIII|IIII|IIII|II

- =10 10 20 30 40 50

ssionmr-asym at 'vs 'd

Dm'

diff_bpmdeX

diff_bpmdeY .

20000 | M 20000 =
: 0 : 0
15000 15000 |- R
N —(80 N
10000 [ m 10000 [ go
5000 5000
- - 60O
N H— ] n
o j = o
- 40
~5000 |- ~5000 [
10000 | 10000 | I 20
[ " - [ _ - H u
1EDDDI_Ill||||||||||||||||||||||||||II|IIII|IIII|IIII ﬂ 15DUD_I|||I||||||II|IIII|IIII|IIII D
40 -30 -20 -10 O 10 20 30 40 50 20 -10 0 10 20 30
difi_bpm4ex/um difi_bpm4aeY/um
l- l-
E —[20 E —{10(
15000 s 15000
10000 | —{70 10000 —80
m N
5000 F . 5000 F
[ C 60
o o
-5000 -5000 40
10000 | 10000
- - 20
15000 | 15000 |
i g 1 B = : =
_II|II|||||||||||||||||||||||||II|IIII|IIII|IIII _I|||I||||||II|IIII|IIII|IIII
20000 "% a0 20 -10 0 10 20 30 40 50 °© 20000 B0 10 0 10 20 a0
diff_bpm4eX/um diff_bpm4eY/um
diff diff_bpmd4eY
30000 g0 30000 —|7o
- - |6
20000 | _eo 20000 |
. -
10000 10000 [~ =50
of of 40
10000 g 10000 | 30
20000 | 20000 | 20
30000 10 30000 - 10
b b Lo b Lo b Lo | F L |
Lo iyt rrar i ririiigl 1 1 1 1 1 11 1 1 1 1 1 1 11 1 1 1 1 1 1 1 1
40000 "% —ap 20 10 0 10 20 30 40 50 © 40000 T 0 10 20 a 0
difi_bpmdex/um difi_bpmdaeY/um
diff diff bpmdeY
- L I
- {70 -
30000 | 30000 | —|7o
N —60 -
20000 | 20000 | —|60
- oy - m
10000 10000 =50
- = N
- - m
o o i- 40
10000 | 10000 | a0
. - o
20000 [ 20 sp000 - ™ 20
30000 - 10 30000 m 10
L L Win ! Livsil
LI11 11111 1 1 1 1 1 11 1 1 1 1 1 1 1 I 1 1 1 1 1 1 1 |
40000 - M- 20 10 0

I| 111
1 20
difi a.‘-:.furn

““DOSt

p a n 'p n 2,hpm4na‘ﬁum

20000
—{&o
15000
—{70
10000 —eo

E

5000

~5000

10000
15':“:":' 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1 1 | 1L 1 1 1 | L1 1 1 ﬂ
~100 =50 0 50 100 150
diff_bpm12X/um
l-

: — 70
15000 |

- —60
10000

- m | PP

5000 —

- m

of

N
~5000
10000
15000 | " 10

: e |

B 1 1 1 | 11 11 | I | | 11 11 | L1 1 1 | | T |
20000 100 50 0 50 100 T

diff_bpm12X/um
-

- —16¢
30000 —{14¢
20000 —{12¢
10000 [~ —10

ol 80
10000 |- B0
20000 40
30000 I. 20

N J [ |

AN T T T T N T A T T 0 M 0 A
40000 100 50 0 50 100 150 ©

diff_bpm12Xium

-

- — —{14¢

- =
aoo00 - il

- —{12¢
20000

n —{10(
10000

: 80

o

- B0
10000 [~
20000 40
30000 - 20

L | | | L

1 1 1 1 1 11 1 1 1 1 1 1 1 1 1L 1 1 1 L1 1 1
40000 ~100 50 0 50 100 150 ©

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6368 000 regi

diff_ bpm1X

20000 [ ] —100
15000

10000

5000

=5000

10000

| | -
15000 _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 0

=50 =40 =30 =20 =10 0 10 20 30 40 50
diff_bpmXum

—141

15000

10000

5000

=5000

10000

15000

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII i

50 -40 -30 -20 10 O 10 20 30 40 50

difi _bpm1Xum
diff

15000

—{100
10000

5000

=5000

10000

15000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

b berrrbvrealrrrr e brvor bevaa bevna ben o
50 40 =30 =20 10 O 10 20 30 40 5O

diff_bpm1Xum
diff _

— —10

15000

10000

5000

=5000

10000

15000

=
I I ' T T1 I T T 1 I I T T I I T T I LI I T T 1 I T
[

3_

- =10 10 20 30 40 50

-ession reg

20000

— 100
15000

10000

S000

5000

10000 20

| Ili |
18000 = v v v b b b Laa

0

20 10 0 10 20 a0
diff_bpmda¥ium

15000

10000

2000

=5000

10000

15000

AN T T T T N B B B B 0
20 =10 0 10 20 30
diff_bpmda¥ium

"-"1

— 100

5000

)

5000

10000

20

15000 -

==
IIIIIIIIIIIIIlIIII|IIII|IIII|IIII|II

trv v rv v bv v bv v by b 0
20 =10 1] 10 20 an
difi_bom4aYium

91.

— 100

10000

5000

~5000

10000

15000

=
I|IIII|IIIIIIIIIIIIIIIIIIIIIIIIlI

at vs

diff_bpmd4eX

- — —10(
20000 m

15000 | O o
10000

- " 60
5000 [~ N

Oty 40

C I |
-5000 |

- 20
10000 |-

n [ |

B u -
1EDDD|_|||||||||||||||||||||||||||||||||||||||||||||| ﬂ

40 -30 -20 -10 © 10 20 30 40 50

difi_bpm4eX/um

l-

- _ 1
15000 '-. —
10000 |
5000 (™

[F}'.
~5000 | ol
10000 |
15000 [~ = 10

_||||||||||||||||||||||||||||||||||||||||||||| ﬂ

40 30 -20 10 © 10 20 30 40 50

difi_bpm4aX/um
d.
15000 | —10t
10000 F

N —80
5000

- m

iy

o
~5000 |
10000
15000

o b bbb by by brrrs b i 0

40 30 20 10 0 10 20 30 40 S0

diff_bpm4eX/um
d.
10
15000
10000 -
. 80
n
5000

20

'I""I""I"".I.'"'I""I""I'

LZ*" ~1ostpa

diff_bpmdeY

20000

15000

10000

5000

= 5000

10000

—100

| | - |
5000 v b by b Lo

15000

10000

5000

=5000

10000

15000

20 10 0 10 20 a0
diff_bom4eY/um

—100

B
III|IIII|IIII|IIII|IIII|IIII i

diff

=20 =10 0 10 20 30
diff_bpmday/um

_hpmélcY

15000 [

- —{100
10000

i —{ &0
5000 [

of

~5000 |-
10000

- 20
15000 [ =

T e aa oo a o a e e o

20 10 0 10 20 30
diff_ bomdayium

diff_bpmdeY
15000 [

- — 100
10000 [

B —{80
5000 |-

i 60

o

-5000 | 40
10000 -

. 20
15000 E =

_I||||||||||||||||||||||||||| u

-20) =10

n p n 2 dlll hﬁm4n3‘1"."urn

B —
20000 n
- —80
15000 O
- —70
10000 [~ _leo
spop -
- -
O m I
- =
-5000
N [ |
10000
15':“]':' _I || | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 ﬂ
100 -50 0 50 100 150
diff_bpm1 2X/um
l-
: —70
15000 .
- —l&0
10000
- 5o
" n
5000
B | A0
DE‘ u
- W [ | a0
5000 o
- 20
10000 .
- 10
15000
N = - [ ]
L1 1 | L1 11 | | I .| | L1 11 | | I | | L1 11 ﬂ
100 -50 0 50 100 150
diff_bpm12X/um
d .
15000 —80
s —70
10000 |
E ] —(60
5000 [
. |
O
- 40
~5000 |- = w0
10000 [ 50
E m - ]
15000 [~ - 10
AT N T T e 0
100 -50 0 50 100 150
diff_bpm1 2X/um
difL
B —
15000 n
- —70
10000 o
C =
5000 [
N |
[ m u
D __
- | n
- [ ]
~5000
10000 —
N [ |
B u 10
15000 — N
_I || | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 ﬂ
100 -50 0 50 100 150

diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

run6368 000 resres

diff_bpmlX

v¥/ndf  31.07/42

p0 -43.3 £ 359
t
p1 57.72 + 3.64 wa N
uf— h* | T -
-2000 l\
- 4
~4000 [
6000 [ }
-8000 | }
H}DDD:_|I||||||||||||||||||

-40 =20 1] 20 40

91

iff_bpm1X

diff_bpmdaY

%2 / ndf 44,38 / 42
p0 -32.4 £+ 365 _
p1 0.2262 + 6.4339 ’ |
ok }
- J |M t H I
o000 - - i [
=400 1— *
-ﬁﬂDD:;
R 1 _I | | L1 11 | | I | | | I | | L1 11 | L1 11

=20 =10 0 10 20 a0

diff_bpmdaY

2000 f— %2/ ndf 3713/ 42 %2 [ ndf 35.79 /42
ﬁ”m;— J p0 -33.16 + 42.07 p0 -26.96 + 42.69
4000 £ p1 66.33 +4.23 p1 13.07 + 7.48 } {q} {
2000 w R - r[; L..,r w o
- f b ] } l” |
il 2000 - -
; ; :
~2000 [~ [NH ~4000 |
-4000 [ } r } 6000 :_ }
-6000 6000 3_
~B000 [~ -
10000 |-
1.DDDD_I|IIIIIII|III|III|_II _IIIIIIIII|IIII|IIII|IIII|I-III
_40 _20) 0 20 40 20 T 0 10 20 a0
Z %2/ ndf 30.62 / 42 %2 / ndf 41] 34 /42
10000 -
i p0 -55.25 + 106.96 p0 -73.19 £ 105.41
2000 — | p1 -36.33 £ 10.62 p1 3179+ 18.3 1 11l
| M | o
o - 11
[ ! or 1 { f {
Z I - } t
-5000 - | * i Bl | m
i I 10000 {
10000 — } ) 15000 F i
- 20000 E— |
13000 T R T T T T Y A N N R T A AR NN NN NN AN NN
_40 _20 0 20 40 20 10 0 10 20 a0
¥e | ndf 345542 %2 / ndf 45[}8:’42
p0 -68.1+101.7 { r— p0 -87.95 + 100.74
p1 99.09+ 1017 d p1 2059+ 175 W }
5000 - } ~5000 |- | }
10000 2 } J E H
n 10000 [~ -
15000 | - |-
- 15000 [
0000 L |-| I | L1 1 | L1 1 | L1 n

ssion asvm at vs diff

diff_bpmdeX

%2 / ndf 40.07 / 42
p0 -40.73 + 35.99 i
p1 58.08 £ 3.63
- i }
2000 f } + 1 }
ofF l * _
2000 - N‘Hq\
4000 |
6000
~8000
[ 1 | 1 1 | | | | | | | 1 | | | | | | 1 |
—40 20 0 20 40

91

iff_bpmdeX

8000 %2 / ndf 60.8/ 42

6000 p0  -37.47 + 42.08

4000
-66.61 + 4.21

]
el

2000

M

=2000

~4000

~6000

~40 =20 1] 20 40

=
[TT T[T 7T [T T T [T T T [T T T [T T T [T T T[T TT]T
—

~8000

diff_bpmdeX

15000 — ~ %2 | ndf 4957 / 42
10000 p0 -50.6 £ 107.3
£000 - p1 -12.38 + 10.63

ool

~5000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
]
—
P —

10000 )
15000 i
e

dlthpmégL

¥/ ndf 52.05/ 42

pO -66.23 £ 101.51 _

p1 122.6 £ 101

of _

-mnnf— -
mnnnf— | }
1EDDDE—I I L1 RN T AN T T T [N T N B B

%

bpmdeY

i %2 / ndf 38.7 / 41
2000 — }
[ p0 -38 + 36.5
ok { i p1 -1.137 + 6.605
[ | 1 * T '|| ‘
-zunn_— - { {
4000 ;
=g000 :- +
:I 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

-20 =10 1] 10 20 30

diff_bpmdeY

%2/ ndf 63.94 / 41
p0 -11.47 + 42.55
p1 18.45 £ 7.63 }
T ﬂwwwﬂﬁ%% N
-2000 |- 1
-4000 i
~6000
-8000 )
10000 [~ )
:I 11 | 11 1 1 | 11 1 1 | 1L 1 1 1 | 1 1 1 1 | 11 1 1 |
20 10 0 10 20 30
¥ [ ndf 43 09 / 41

p0 —66.15 + 104.25

p1 4153+ 18.7

5000

1]

1
1
=

[

—_— —
—
—_—
—_—
L
1

5000
10000 k ' l }
15000

LI L L L L I L
1
 —
—_—
—_—
—+
+

|1 ;| prrr v v brr v b v v g
20 =10 1] 10 20 a0

diff_bpmdeY

¥? ! ndf 51.46 / 41 ]
p0 -91.51x99.65 H } i
p1 390 + 17.9 1 |
i HH' s
oF - }
5000 - W [
10000 |- }}]l
15000 — -
20000 : "-| I || HEEEEEEENEEEN

-2{) =10 10 20 30

- bpm-fit postpan.png

6000

4000

2000

=2000

=4000

= 6000

:
:

2000

=5000

10000

15000

diff _

30000

20000

10000

1]

10000

20000

30000

40000

diff_bpm12X

30000

20000

10000

10000

20000

30000

40000

diff_bpm12X

{ %2 / ndf 74.8 /50
p0 -44.47 + 36.21
N p1 -1.789 £ 0.993

_||||||||||||||||||||||||||
1
—_
_——
—_

- =
—_—=
—

—
—_—
ey

—_

_l_;'z'__l_—._
-

=100 -50 1] 50 100 150

I %2 / ndf 36.05 / 50

e w 0 -25.14 + 4167

C | Mw 2149 + 1.13

I { ' 'trﬁ*ﬁm"ntH

|_| 1 1 | L1 11 | L1 11 | 111 | | I I | I 11 |_| |
=100 =50 1] 50 100 150

- * x2 / ndf 56.93 / 50

N -0

[ i, ) p0 27.34 + 35.38

o1 2714 +1.0

] -

- b

- prr v bv v tv v vy |: L1 |
=100 =50 1] 50 100 1580

) ¥2 / ndf 50.25 / 50

L+ .

E PO 7.516 + 37.265

p1 -2551+1.0

3 }

: it

— t -

;l-l || | L 111 | | I | | | I | | | I | I | I- 11 |
=100 =50 ] 50 100 150



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6368 000 resression reg_

diff_bpm1X

d

IE-{:IDEI
4000

2000

p0

46.42 /42

-30.35 £ 36.02

-0.3722 £ 6.3532

diff_bpmdeX

12/ ndf

p0

pl

39.42 /42

—40.71 £ 35.98

0.9044 = 3.6330

2000

diff_bpmdeY

diff_bpm12X

=2000

el
-_-w M

f

22 F ndf 30.86 / 42
00 _41.72 + 35.93
Pl 02168 = 3.6413 t
ey
o _
+ W * L
2000 | -
=4000
~6000 [ }
SBO0O =, ) by b b
=4} =20 (1] 20 40
2indl 40.837 42
00 -28.99 + 41.33
o1 4.936 + 4.157 +

2L

-2000 |
_4000

~6000

1 WWW

1

}_

~2000 -
_ 4000 :—
6000
:l | | | | | | | 1 | | 1 | | | | | | 1 |
40 20 0 20 a0
%2/ ndf EE 7242
p0 -30.24 + 41.33
p1 2.715 £ 4140

]

glmlff_hmeZX

%2 / ndf 74.82 /50
p0 -42 67 + 35.68
p1 1.023 £ 05974
[ | Il -} } Jr
o _ I
! | AELAT
I I LA
=2000 _— |
~4000 :— }
000 :—
'IIII|IIII|IIII|IIII|IIII|III_I|

=100 -50 1]

50 100 150

diff_ bpm1X

%2 | ndf 33.84 / 42

po 16.65 + 34.00

p1 0.9635 * 3.4495

oF { W%ﬁw

=2000 f— {
~4000 [
=000 :—
=B000

i

—4-DDU:—
—'E-I}DD:—
NI NS SRR BT SRR R
=20 =10 0 10 20 30
diff bpmd4aY
%2 [ ndf 37.25 /42
p0 -23.72 + 41.29 s
p1 7.192 + 7.249 M} "
T T
_:mnn:—_[-H* iH{
~4000 |
=600 — }
=8000 —
weoor, | | | | Ly

diff_bpmdaY

p0

p1

%2 [ ndf

41.84 /42

1557 £ 33.95

0.1227 £ 5.9568

-40 =20

1] 20

40

dlthpmlL

‘,:{ f nadt 4546/ 42
pO -11.61+ 34.63
p1 0.06448 + 344795
1000 -
of } ' i
1000 |- H +
_2000 |-
~3000 —

2000

o

2000
~4000 [

~6000 [

d

6000
4000

2000

=2000

=4000 —

=20 =10

iff_bpmd4aY

0

10

%2/ ndf

p0

20 TH

-4000 —

l

-2000 —

diff_bpmdeX

24.09 / 42

6.3 £ 34.7

-2.129 + 6.099

%2/ ndf 40.37 [ 42
pO 13.63 + 34.02
p1 0.6631+ 3.4359
200 _ |

oL - } b

I } ity

-EE'DD_—
_‘mDD_|||||||||||||||||||

I
-40 =20 1] 20

40

diff_bpmdeX

M +}}

i

}f’ { naf 50.35/7 42
po —10.34 + 34.69
p1 0.09967 + 347237
sp00
oL H {J } bt
- 'l 'H' 'H'
- 2000 - {

—_—
[ e——

xzf ndf 37.2/50
6000
: 00 _05.52 + 40.99
4000
2000 f— H p1 -0.3623 £ 1.1127
= - ¥
T
-2000 | } {
4000 -
~B000 |
~8000
10000 -
|||||||||||||||||||||_||
100 =50 1] 50 100 150
AO00 E.Ir ndf 5585750
p0 19.96 £ 33.66
4000 —
p1 -0.1992 £ 0.9148
2000 — + 1
]
oL ‘wmw \H
200l +} | | |
=400 _—
_|||||||||||||||||||||||||_|||||

=100 -50 1]

50 100 150

diff_bpm12X

%2 / ndf 4279/ 41
2000 _‘ _ } PO -31.71 + 36.01
ok K}HH[.”' JtI_-H p1 -1.046 + £.532
_* ~H i b 1 Irlll“ “
_2000 - {_ { }_'
4000 B
6000 |- +
-1 11 | 1111 | 111 1 | L1 11 | 1 1 11 | L 111 |
20 10 0 10 20 30
%2/ ndf EE 14 /41
p0 -11.65 + 41.16
p1 4398 + 7.394 | |
ofF . 'Wﬁﬁﬁ%%ﬂh”’\
2000 | - -
~4000 |- )
~B000 [~
~BOOO [
wooo - Lol | Ll |
20 10 0 10 20 a0
8000 ¥2 [ ndf 3711/ 41
con0 L pO 16.42 + 33.98
pi -1.973 + 6.161
4000 |
2000 - } 4
L | “"ll'“ i ik ”|+|||PL}}“ !
: 1 t i H |
_2000 |- +
NN RN NN AN NN
20 10 0 10 20 a0
%2/ ndf 45.77 | 41
4000 F
an00 - p0 1.59 + 3461
2000 ) p1 -1.159 + 6.220
000 w« Mw ‘
N | i
w i M 1]
~1000
2000 — ]l
-3000 [
I 1 1 | 1111 | 111 1 | L1 11 | 1 1 11 | L 111 |
10 0 10 20 a0

tip”0§t|:‘ian.png

¥/ ndf 43,75/ 50
pO 5.23 + 3436 |
p1 0.02145 + 0.93169
2000 '{ H
ot
} i
2000 [~
-mnn:—
Do lvvv v bvvv s by by |

-100 ~50 1]

50 100 150




asym_atll

asym_atrl

asym_atl2

asym_atr2

run6368 000 r

diff_bpmda¥ium

diff_bpmda/um

diff_bpmda¥ium

11
20000 | 20000 |-
15000 — 15000 E—
10000 — 10000 E—
5000 ;' 5&00?;
of of
~5000 — ~5000 f—
10000 — 10000 f—
15000 ;WII|IIII|IIII|II{IlIIIIillllhllllllllllllllllll 15000 Eﬁ
=50 -40 <30 20 <10 0 10 20 30 40 50
diff_bpmXum
|I -'lfjli L
15000 — 15000 E—
10000 — 10000 E—
2000 — 5000 f—
of of
=5000 — ~5000 f—
10000 E— 10000 E—
15000 E— 15000 E—
20000 a"'l'IIIlIIIIlIIIIlIIIIl'Illllllllllllllllllllll 20000 :|
=50 40 =30 20 10 0 10 20 30 40 50
difi _bpm1Xum
& &
30000 — 30000 E—
20000 — 20000 E—
10000 — 10000 f—
of of
10000 — 10000 f—
20000 — 20000 E—
30000 — R 30000 E—
40000 alll|||||||||I|H|||||||||||||II{IhIII|IIII|IIII 40000 :I
=50 40 =30 20 <10 0 10 20 30 40 50
diff_bpm1Xum
& L
- _ -
30000 — 30000 E—
20000 — 20000 E—
10000 — 10000 f—
of of
10000 — 10000 f—
20000 — 20000 E—
30000 — '- 30000 E—
40000 a||||||||||||||ﬁ||||| Lo b v b e 40000 :I

50

-40 30 <20 -10 10 20 30 40 50

esression-asym at

(1]

s 'diff b

20000

15000

10000

5000

~5000

10000

15000

15000

10000

2000

=5000

10000

15000

20000

30000

20000

10000

10000

20000

30000

40000

30000

20000

10000

10000

20000

30000

40000

m-=sca

40 -30 -20 -10 0 10 20 30 40 50
diff_bpmdeX/um

5

30 =20 10 0 10 20 30 40 50
diff_bpmdaX/um

5

30 -20 -10 O 10 20 30 40 50
diff_bpmdeX/um

40 -30 <20 10 0

t ‘postp

20000

15000

10000

5000

= 5000

10000

15000

15000

10000

5000

=5000

10000

15000

20000

30000

20000

10000

10000

20000

30000

40000

30000

20000

10000

10000

20000

30000

40000

diff_bom4eY/um

diff_bpmdaY/um

-20 =10 0

dAll.Pp1Y

diff_bpmdaey/um

20000

15000

10000

5000

~5000

10000

15000

15000

10000

2000

=5000

10000

15000

20000

30000

20000

10000

10000

20000

30000

40000

30000

20000

10000

10000

20000

30000

40000

1
100 -50 0 50 100 150
diff_bpm12X/um

=100 -50 1] 50 100 150

diff_bpm1 2X/um

1
100 -50 0 50 100 150
diff_bpm12X/um

=100 -50 1] 50 100 150

diff_bpm12X/um




20000 | 20000 |- 20000 | 20000 |- 20000
15000 | 15000 15000 | 15000 | 15000 |
10000 10000 [~ 10000 10000 [~ 10000
5000 5000 5000 5000 5000
reg_asym_atll o o A i c.
-5000 [ ~5000 [ ~5000 ~5000 [ 5000
10000 | . 10000 10000 | : : 10000 | 10000
15[:”:”:'_||||||||||||||||||||||||||||.||||||||||||||||||||| 15DDD_I 1EDDDI_I||||||||||||||||||||||||.||||||||||||||||||||| 1EDDD_I 15':“:":' | 1
50 -40 -30 -20 -10 0 10 20 30 40 50 40 -30 -20 -10 ©0 10 20 30 40 50 100 50 0 50 100 150
diff_bpm1 Xium diff_bpmdaYium diff_bpmdeX/um diff_bpmdeYium diff_bpm12X/um
! . [bf . ! . ff . ! . ff
u B — B B — B
15000 15000 [ o L 15000 | 15000 | o o 15000 [
10000 10000 10000 10000 10000 [
5000 F 5000 5000 | 5000 F 5000 F
reg_asyim atrl 't 't 't 't 't
g_ — ~5000 | ~5000 |- ~5000 | ~5000 |- ~5000 |-
10000 10000 [ 10000 10000 10000
15000 | T 15000 |- o 15000 T 15000 [ LT 15000 |-
_||||||||||||||||||||||||||||||||||||||||||||||||| _II|||||||||||||||||||||||||| _II||||||||||||||||||||||||||||||||||||||||||||| _I||||||||||||||||||||||||||| _II||||||||||||||||||||||||||
50 -40 -30 -20 -10 0 10 20 30 40 50 20 10 0 10 20 30 40 -30 -20 -10 0 10 20 30 40 50 20 10 0 10 20 30 100 50 0 50 100 150
diff_bpm1 Xium diff_bpmdaYium diff_bpmdaX/um diff_bpmdeYium diff_bpm12X/um
. [lf . . [lf . . ff
15000 | 15000 ' 15000 | 15000 [ 15000
10000 10000 [ ’ 10000 F 10000 10000 [
5000 [ 5000 5000 5000 [ 5000 [
l = ok = = o
eg as:’ at 2 -5000 | ~5000 |- ~5000 | ~5000 |- ~5000 |-
10000 |- 10000 | R A 10000 |- 10000 [ N 10000 |- BRI
15000 | | 15000 [ | | 15000 - 15000 | ' 15000 [
G b bvrvrbveee v b brve bevnn b ler s Cov v v v bv v bv v rr by b Co v berrr vl b v bvovna bevvan beaa I T T T T O N 0 O A IO B A NI AR BN B B B B AN B B A B B A A A A N A
50 -40 -30 -20 -10 0 10 20 30 40 50 20 10 0 10 20 30 40 -30 -20 -10 ©0 10 20 30 40 50 20 10 0 10 20 30 100 -50 0 50 100 150
diff_bpm1 Xium diff_bpmdaYium diff_bpmdaX/um diff_bpmdaYium diff_bpm12X/um
. [bf . . [bf . .
u B — B B B —
15000 15000 [ : 15000 15000 15000 [
10000 10000 |- T I 10000 |- 10000 10000 |- TR
5000 |- 5000 |- 5000 |- 5000 |- 5000 |-
t 2 of of - = of of ’
g— y — -5000 [ ~5000 [ ~5000 [ ~5000 | ~5000 |
10000 [ IR 10000 |- S 10000 |- . 10000 |- 10000 |- _
15000 ' : 15000 [— ' : 15000 [— - 15000 [— S 15000 [—
_|||||||||||||||||||||| ||||||||||||||||||||||||| i |||||||| _||||||||||||||||||||||||||||||||||||||||||||||| _I||||||||||||||||||||||||||| _II||||||||||||||||||||||||||
_50 10 0 10 20 30 100 -50 0 50 100 150

run6368 000 regression-reg at vs diff-bpm-scat postpan.

n 2 diff_bpmdaey/um diff_bpm12X/um




